TEMPLATE:
BIG ROUND SAW Y MODE;
VOLTAGES

T23E8 72368 T23E8 723.68

Datablock
Mame  =“oltage A/LT Woltage B/L2
Date  =2/26/2010 2/26/2010

Waltage A/L1 5

Time  =9:3519AM 9:35:20AM
Y5cale = 723EBV/Div | 72363V Div
T ALEDE = 0.00v 000y
HScale = 167 meDiv] 167 ms/Div
Haln = .0 ms me

¥ Size  =300(300) 300 (300)
Masimurn = BE4.55 'V EB4.E3V
Minimum = -BES.19V BE4TEY
Mame  =“oltage C/L3 Woltage N

Date =2/26/2010 2/28/2m0
Time: =9:3%20 AW 9:35:21 AM
¥ Scale TZIEAVDi | 723EDV/D
7 ALE0E 0.00v 0.00v

# Scale

0.00 = 0.00 = 0.00 = 0.00 =

167 me/Div| 167 ms/Div
A 0% .0 ms 0.0 me
® Size  =300(300) 300 (300)
Maximum = EGF.27 003y
Minimum = -EBF.05Y 013V

Cursor Values
®1 1.4 ms
K2 200 ms
dx 25 ms
el BE2.EEV
Y2 -BRAT2V
0.0ms 1E.7 ms/Div d¥ . 32737V

F23EE 7UdER J2AER 72368

CURRENTS:

CurentA/LT

Datablock
Mame  =Cunent&/1 |Curent BALZ
Date  =2/26/2010  |2/26/2M0

1899 1639 1594 1593 :
: Time — =93525AM [935:254M

¥ Scale = 1787 4/Div | 1787 A/Dw

Y ALE0% = 1884 -

X5cale = 16Ems/Div| 1BE ms/Div
""""""""" KAl = L0 s 0.0 me

X Size  =298(300) 293 (300)

Maimum = 67.1 A BOT A

Minimum = -EE.E A& E35 A

MName  =Curert C/L2 [Current M
Date  =2/26/2010  [2/26/2010

188 1882 1854 188 a

Time — =9:35264M (33526 AM
Y Scale = 178.7 A/Div | 17.87 A/Div
¥ ALEDE = 1.884
T #S5cale = 16.6ms/Div| 166 ms/Div
XAr0% =  O0ms 00 ms
%Se =298(300)  |298 (300)
Maximum = 664 A 0004
Minimurm = -70.24 006 A
Cursor Values
#1 8.4 ms
' ' K2 163ms
dx Bdms
975 1975 1975 1875« ! ! Y1 BR4A
Y2 ESEA
0.0 ms 16.6 ms/Divw d¥: 13204

NEUTRAL:

60.00Hz 0010 APk <
LB 408

02526510 09:35:32 480U G0Hz 38 WYE DEFAULT
VOLT AMP  CURSOR ey VOLTAGE HOLD

HEANESE & 001 RUH




PHASE OVERLAYS:

“4689 v “4688

60.00Hz S oniEd A -2x =F 60.00Hz $ 00153 A -Px ~F

02f26710 09:35:35 4400 G0Hz 38 WYE DEFAULT 02526410 09:35:45 4500 60Hz 38 WYE DEFAULT

UVOLT AMP  CURSOR ’-.H VOLTAGE HOLD UOLT AMP  CURSOR ""-.H VOLTAGE HOLD
HY A RENE & 001 "y 2 PN RUH HEAN B BE & Z00M "y . IR RUH

“4112v ] 49a

60.00Hz S 00158 A -2x =F

02426710 09:35:49 4300 60H=z3H WYE DEFAULT

UVOLT AMP  CURSOR "-.H VOLTAGE HOLD
e

HABC & Z00M "4 N RUH




VECTOR:

“4698v [F4716v ["4715v F 000
9 «F
Vs funa 2716 -240——~_  FHASOR Aafuna 48 L~
Vg fund 271.5 AB funa 90
U C fund 2ic.b H[: fund a0
Hz 60.01 0 Hz 60.02
(o] 1 PN 0 Mg - 79
Wgen -120 SAge -198
Wee -240 Ay -321
-120 -120
02/26/10 09:36:40 480U GOHz 38 WYE DEFAULT 02726710 09:37:04 460U 60Hz 36 WYE DEFAULT

LB T
A B C

UOLT (AP

JOLT AME Y ;scope

'\ scoPE

KR "AT10v " 498
<
Vafuna 2719 Ug funa 7 1.3
Hz 60.01 Hz 60.01
Aafuna 48 A6 funa 49
ﬁﬁ_u[n] - Bu ﬁn_u[n] - ?5
A - 80 SHaen - 80
BApe -199 BAge -199
GAce -321 Sl -320
120 120
02726710 09:37:12 480U G0Hz38 WYE DEFAULT 02726710 09:37:17 480U G0Hz38 WYE DEFAULT

VOLT AMP
A B

VOLT AHP

N '\ scoPE

'\ scoPE

4721v ] 5l A]

Ve fund 2728

Hz  60.01

Ac funa 31

Baum - 78

BRaey - 77

BAge - 196

BAce, -317

=120
0226410 09:37:26 4800 G0Hz 38 WYE DEFAULT

VOLT AHP

@ '\ scoPE



HARMONICS:

Harmonics
A THD 0.8 %f
& 0:00:05 SR E -
4‘ . ‘“]ﬂ ................................................
4 .. 5{"}% ................................................

THODE 1 3 5 7 8 11 13 15 17
02796710 09:37:38 277U 60Hz30 WYE DEFAULT

Harmonics
ATHD 3.2%fRK 1.0 |
& h0D:13 YR E-E
4‘ “]B ................................................
[ SR 5{]'}5 ................................................

THODC 1 3 5 7 8 11 13 15 17
02426710 09:37:46 577U 60Hz 38 UVE  DEFAULT

A B C 1-HARM. HOLD
SR AREES SH O ALL | METERSS SSHY oFF RUH

A B C I-HARHM. HOLD
URASUES SH O ALL |METEESSSONY oFF RUH
Harmonics
ATHD D.0%FQAK 1.0 |
& 0:00:23 P E-<E
B |
a[P
[ 0

B 7 |
THDDC 1 3 5 T 9 m 13 15 17
0226710 09:37:55 277U 60Hz 38 WYE DEFAULT
ARM. HOLD

OFF RUH

Harmonics
ATHD 0.0%FfRK 1.0 |
[ H IR VIR E<E
g B
& ... 0%

O 121
THDDC 1 3 5 T 9 1mn 13 15 17
0226410 09:38:54 277U GOHz38 WYE DEFAULT

I-HARHM. HOLD
OFF RUH

HARMONICS TABLE
& 0:01:39 S P o<

Uolt A B C N
THD=%¢ 0.8 490 1.0 356
H3:¢ 02 482 0.4 12.8
HS:¢ 0.6 37 0.8 11.7
H7=¢ 04 3.1 0.5 11.1

Amp A B C N
H3x¢ 1.1 2.2 1.4 55.4
HS:¢ 2.6 2.2 3.1 516
H7=¢ 0.7 0.7 0.7 485
02726710 09:39:11 277U 60Hz 38 WYE  DEFAULT
Una W HARMOHIC HOLD

UZA GRAPH  TREHD RUH

HARMONICS TRABLE
& 0:01:39 O mm -k
Uolt A B C N
THD=¢ 0.8 490 1.0 356
H3:¢ 0.2 482 0.4 12.8
HS5¢ 0.6 37 0.8 1.7
H75¢ 0.4 3.1 0.5 11.1
Amp A B C N
H3x¢ 1.1 2.2 1.4 55.4
HS5:¢ 2.6 2.2 3.1 516
H7=¢ 0.7 0.7 0.7 485
02726710 09:39:11 277U G60Hz 36 WYE  DEFAULT




100

50

a0

100

30

a0

T

E0

A I IS S U A

600 1200 3000

I

4200

Wolts A/L1
— Datablock —

Mame = Yalts A/LT
Date = 2/26/2010
Time = 9:37:32 AM

Fund = E0.0Hz
THDf= 08%
— Cursor Values —
%<1 300.0Hz
x2 420.0Hz
dx 120.0Hz
1 06%
2 04%
dy 02%
Phl 56 °
Phz 417
Frequencies (Hz)
2 Wolts BALZ
T — Datablock —
; Name = Valts B/LZ
i Date = 2/26/2010
' Time = 9:37:32 AM
: Fund =E0.0Hz
THDf =4B9%
i — Cursor Values —
i %<1 : 180.0Hz
: %2: 5401Hz
' dx : 260.0Hz
; 1 483%
H 2 BG%
oo dy 418%
i Phl: -222
: Ph2: 73 "

= - - - - -
G400 BEOA TEON 8000 10200 1MO4 12e0d 13300 1600 16202  1P40.2 12802 19802 2002 22202 23402 24802 26803 27003 28203 2M03
Frequencies (Hz)

Wolks CAL3

— Datablock —
Mame =Valts C/L3
Date = 2/26/2010
Time = 9:37:32 AM

Fund = E0.0Hz
THDf= 1.0%
— Cursor Values —
%<1 300.0Hz
#2: 4200Hz
dx: 1200Hz
1 08%
2 05%
dy 4%
Phl L
Ph2: 357 ~©

G400 BEOA TEON 8000 10200 1MO4 12e0d 13300 1600 16202  1P40.2 12802 19802 2002 22202 23402 24802 26803 27003 28203 2M03
Frequencies (Hz)



Armps AJLT

1 2
100 T T — Datablock —
E 3 Mame = Amps &/L1
an : : Date = 2/26/2010
: ; Time = 337,32 AM
H : Fund =60.0Hz
a0 H : THDf= 30%
o KFact= 1.0
o : : — Cursor Values —
H : %1 300.0Hz
B0 ' ' #<2: 4200Hz
H : dx: 1200Hz
H H Al 29%
50% T | 2 07%
: : d 22%
: : SR
40 H | Ph2: 196 ~
an : T
£l —
10 e
o = :?7,’ = o
000 Zé\r G400 BEOA TEON 8000 10200 1MO4 12e0d 13300 1600 16202  1P40.2 12802 19802 2002 22202 23402 24802 26803 27003 28203 2M03
Frequencies (Hz)
1 Amps B/L2
100 T — Datablock —
| Mame = Amps BAL2
i Date = 2/26/2010
%0 : Time = %:37.32 AM
: Fund =60.0Hz
a0 : THDf= 33%
: KFact= 1.0
o : — Cursor Values —
' %<1 : 180.0Hz
B0 ' %<2 300.0Hz
: dx: 1200Hz
H Al 25%
50% + 2 24%
: dv . 01
+ Phl: 154 ~
40 | Ph2: 234 ~
n :
£l :
10 3
P i’ bttt ettt
600 1800 3000 4200 G400 BEO 7EDS 8000 0201 MDA ZE00 13801 16001 15202 1P402 18602 AED2 20002 22202 23402 24B02 25303 27003 28203 29403
Frequencies (Hz)
Amps C/L3
— Datablock —
Mame = Amps CAL3
Date = 2/26/2010
Time = 9:37:32 AM
Fund = EB0.0Hz
THDf= 35%
KFact= 1.0
— Cursor Values —
X1: 300.0Hz
X2 4200Hz
dx: 1200Hz
Al 4%
2 07%
dv 27%
Phl [
Phz LI

G400 BEOA TEON 8000 10200 1MO4 12e0d 13300 1600 16202  1P40.2 12802 19802 2002 22202 23402 24802 26803 27003 28203 2M03
Frequencies (Hz)



100

a0

EO

60

80

100

100

a0

EO

40

20

=
&

20

40

60

80

100

100

a0

EO

40

20

=
&

20

40

60

80

100

“wiatts AT

1200 3600 E00.1 840.1 10801 13201 15602 1600.2 20402
Frequencies (Hz)

“wiatts BAL2

1200 3600 E00.1 840.1 10801 13201 15602 1600.2 20402
Frequencies (Hz)

“wiatts CAL3

1200 3600 E00.1 840.1 10801 13201 15602 1600.2 20402
Frequencies (Hz)

2z280.2

2z280.2

2z280.2

2520.3

2520.3

2520.3

2760.3

2760.3

2760.3

— Datablock —

Mame =‘watts AALT

Date = 2/26/2010

Time: 3732 AM

Fund = E0.0Hz

KFact= 1.0

— Cursor Values —

©<1: 7201Hz

<20 2280.2Hz

dx: 1860.2Hz

e 0o

2 0.0

dy 0.0%
3000.2

— Datablock —

Mame ="Watts BAL2

Date /26/2000

Time: 3732 AM

Fund = E0.0Hz

KFact= 1.0

— Cursor Values —

©<1: 7201Hz

<20 2280.2Hz

dx: 1860.2Hz

e 0o

2 0.0

dy 0.0%
3000.2

— Datablock —

Mame ="Watts C/L3
Date = 2/26/2010
Time = 9:37:32 AM

Fund = E0.0Hz
KFact= 1.0
— Cursor Values —
©<1: 72001 Hz
X 2: 22802Hz
dx: 15E0.2Hz
e 00%
2 00%
dy 00%
3000.2



TRENDS:

Pouer &Eneray

Pouer &Eneray

FULL
A

kU -7.686
kUA £2.59
kVAR :21.24
PF -0.34
DPF -0.34

& 0:00:09
B

-0.060
0.094

+0.073 ¢

—_— L) —

OOm LA
=]

|
3
.24
3
3

P = =F

6.963
46.12
13941
0.15
0.15

FULL
A

klJ 24.04
kUA 95.00

kVAR  :82.94
PF 0.35
DPF 0.35

VOLTAGE

& 000:17
B C

-0.538 9887
0627 99.16
+0.322 7648
-0.86 1.00
-1.00 1.00

Arms 48 49 a0 Arms 213 c1? 213
A B C A B C
Urms 4709 19 4714 Urms  465.5 2.3 4664
02/26710 09:40:23 277U G0Hz38 WYE  DEFAULT 02/26/10 09:40:30 277V 60Hz 36 WYE DEFAULT

— — —
LTI

P E=F

=J=Jig 92Ny
=J=J=J] D3 B

VOLTAGE
A

EHERGY TREHD EHERGY

4T 4708 v mu

3996 H= 0:00:04 S -2x W

TREHD

T

02/26410 09:40:01

UOLT AP
HAaBC

277l G0Hz3H WYE DEFAULT

CURSOR "'-.H UOLTAGE HOLD
& F00M v I RUH

VOLTAGES:

W Rms &/01
ATR A4TRIT 4T Datablock

Mame =% Rms&/L1 |V Rms B/L2
Date  =2/26/2010  |2/26/2M0
Time  =9:4014AM (94014 4M
Y5cake = 1.85W/Diw| 1.85V/Div
Y AEE0% = 465.96Y 465,96V

AN
EERS]

47336 47336 47336

47151 47151 47
XScale = 76 sDiv| 76 s/Div

Ner0z =000000  |00:0000
46366 40360 AR50 Ngize =143[149 |143[149)

Maximum = 47315V 446V
wrm ETE A Mirimum = 453,94V 162y

MName =% Fm: C/L3
Date  =2/26/2010
Time  =5:40:14 M
YScale = 1.85W/Diw
¥ ALED% = 4EE.9EY
XScale = 76 s/Div
X AL0% = 00:00:00
%S =149[149)
Maximum = 47318Y
Minimurn = 45054

Cursor Values
#1 (0d 00:00:37 (2/26/2010 9:40:51 AM)
®2 (0d 00:01:51 [2/26/2010 3:42:05 AM)
: : d¥: 0dO0m14
456,71 & ' ' Y1 47030 47178 47236V
Y2 46993 47030 470.68Y
76 s/Div dv: 037 148  4EBY

4B5.96 = 46596 = 46096 =

46411 46411 46417

46226 46226 46226

4E041  4B04T  4ED4T

45856  45B.5E 45856

45671 45671

00:00:00




CURRENT

18000 15000
12000 12000
500.0 500.0
6000 E000
300.0 3000
00 0.0 -
-a00.0 3000
000 -B000
H00.0 0 -500.0

120000 12000

A500.0 -1500.0

WATTS:

2E82 MBE2

ng 208
TRmR 1r2m
1m0 18
sEE %S
58823 5earZ
mm o082
REAL IS AL
H618 ET8
278 H21E
REEI AL R ]

00:00:00

24852
sz
17282
13482
9682
5882 %
2082
RFAL]
18
218

A3118 «

00:00:00

VA WATTS:

iz 2z
) e B e
19247 19247
15365 15365
HaE 11482
wwE ol
ETAERE AT
1B5 1ES
4047 4047
J929 7929

a1z 1182

27012

231.29

192.47

1

A Rms a/01

2 m/Div

W Full /L1

T8 s/Div

WA Full &Lt

B R CEEEEE PEP R R 1)

Diatablock

MName  =ARmsAL1 [4FRmsB/L2
Date =2/26/2010 | 2/26/2010
Tirne: =34014 406 | 34014 AM
YScale = 300 A/Div| 300 A/Div
YALED% = 0.0A 00A
X5cale = 2 m/Diw 2 m/Div
AALD%  =00:00:00 00:00:00
X Size  =143[149) 149149
Maimum = 282.84 28594
Minimum = 4314 4254
MName =
Date  =2/26/2010
Time  =5:40144M
YScale = 300 A/Diw
YALEDR = 0.0A
XScale = 2 mDiv
X AL0% = 00:00:00
%S =149[149)
Maximum = 28064
Minimum = 43.04

Cursor Values
#1 (0d 00:00:07 (2/26/2010 9:40:21 AM)
®2 (0d 00:00:22 (2/26/2010 3:40:36 AM)
dx 0d 00:00:15
Y1: 469 478 4824
Y2: 472 476 4804
dy 03 02 024

Dratabloc]

MName =% Full&/01 W Full BAL2
Date =2/26/2010 2426/2M0
Tirne: =3:40:14 A 9:40:14 AM
YScale = 38 KW/Div| 38 Kw/Div
¥ ALE0% = BREZ KW 5802 kw
XScale = 78 s/Div 78 s/Div
AALD%  =00:00:00 000000
X Size  =149[149) 143(149)
Mazimum = 74.80 k'w/ 0.01 kw
Minimum = -16.53 kw/ -1.08 ki
MName = W Full Total
Date  =2/26/2010 2/26/2010
Time  =5:40:14 M 3:40:14 AM
YScale = 38 KWwW/Div| 38 kwi/Div
Y ALED% = BEEZ KW 58,82 kiw
XScale = 78 s/Div 78 s/Div
X AL0% = 00:00:00 00:00:00
%S =149[149) 143(149)
Maimum = 129.33 kiw/ 20305 kw
Minimum = 1285 kKw' 0.08 kiw!

Cursor Values
#1 (0d 00:00:37 (2/26/2010 9:40:51 AM)
®2 (0d 00:01:51 [2/26/2010 3:42:05 AM)
dx 0d 00:01:14

1 7820 03 21.23KW
Y2: 785 7TEE TOTKW

dY 0.07 787 -2860kwW

-1.65

-40.47

73.29

1812 <

00:00:00

80 +/Diw

Diatablock

Name =4 Full &/L1 4, Full BALZ
Date  =2/26/2010 2/26/2010
Time  =9:40:144M 94014 AW
‘S5cale = 38.82KVA/MDIv[ 3882 kKVADiv
TALEDE = 7E.00 kWA TE.00 kWA
HScale = 80 &Div 80 sDiv
H A% =00:00:00 00:00:00
X Size  =143[143) 143149
Masirurn = 131.53 kWA TIE kWA
Minimurn = T9.63 kWA 0.08 kvé
MName = WA, Full Total
Date =2/26/2010 2428420
Tirne: =3:40:14 A 9:.40:74 AM
Y Scale = 38.82 KVADIv| 3882 kKvADi
Y ALED% = TE.O0KWA TE.O0 ke
KScale = 80  s/Div 80 +Div
HAD%  =00:00:00 00:00:00
HSize  =149[149) 143149
Maximum = 13041 kKA 263.09 ki
Minimum = 1943 kKA 39.25 kA

Cursor Values
#1 0d 00:00:37 [2/26/2010 9:40:51 AM)
®2 0d 00:01:51 [2/26/2010 9:42:05 AM)
dx 0d 00:01:14
el 22ET 3040 4BEIKMA
W2 2245 2253 2272KMA
dv -0.21 781 -ZETT kWA




VA
200.00
160,00
12000

a0.00

40.00

R:
20000
160,00
12000

20.00

40.00

omE  omE
= =

-40.00

-80.00

120,00

160,00

-200.00

-40.00

80,00

120,00

160,00

-200.00

WAR Full 4/L1
200,00 T

160,00
12000
000
anoo
Ll
=
4000
0.0
42000

-160.00

20000 <

00:00:00 2m/Diw

POWER FACTOR:

BE3
523
418
291
167
0434
Rikci]
208
329
-4.53

877

B.E3
5.39
415
29
167
0438
Rik]
205
329
-4.53

A77

E

5

4

-8

FF A/L1
63

3

18

H

7Fos

00:00:00 75 ¢/Div

DISPLACEMENT POWER FACTOR:

9.27

724

5.21

18

115

.88

291

434

£97

-5.00

A1.03 -1

927

724

5.21

318

118

088

291

4.4

657

00

1.03

DFF Total

£97

-5.00

1034

00:00:00

7T s/Div

Datablock.
=WAR Full A/L1 VAR Full BALZ
2/26/2010 2/26/2010
:40:14 AM 94014 A
40 KvAR/Die| 40 KMAR/Div
0.00 kKvaR 0.00 kvAR
2 mDiv 2 mdDiv
= Ar0% = 00:00:00 00:00:00
% Size  =149[149) 143149
Marimurn = 11117 kKvaR 043 kvAR
Hinirr 18.52 kKvAR 043 kAR
Mame VAR Full Total
Date 2428420
Time: 940714 A
‘' Scale = 40 kVAR/Div
At 50 0 kvaR 0.00 kvAR
% Seale 2 m/Div
= At 0% 00:00:00
X Size 143149
aximur 40063 kKVAR 141.84 kAR
Minimum = -23.09 kvaR FLE3 VAR

Cursor Walugs

A1: 0d00:00:37 (2/26/2070 9:40:51 AM)
X2:  0d <61 [2/26/2010 3:42:05 AM)
dX¥: 0d00:01:14
el 2124 2857 4387 KVAR
2o 2112 2128 14T KMAR
dv 012 729 2251 KWAR
Datablock
Name  =PF &1 FF B/LZ
Date  =2/26/2010 |2/26/2010
Time  =94014AM |5:40:14 AM
‘5cale = 1.24PF/Div| 1.24 PF/Div
W ALEDE = 043 FF 043PF
HScale =75 &Div |75 s/Div
H A% =00:00:00 00:00:00
X Size  =143[143) 143149
Masimurn = 0.53 PF 1.00PF
Minirmum = -0.48 PF 093PF
Mame = PF Tatal
Date =2/26/2010 | 2/26/2010
Time =9:4014 & | 9:40:14 AM
¥ Scale = 1.24PF/Div| 1.24 PR/Div
Y ALEN% = 043FF 043FF
KScale =75  ¢Div |75 2/Div
HAD%  =00:00:00 00:00:00
HSize  =149(149)  [149(149]
Maximum = 1.00 PF O78PF
Minirmum = 0.43 PF 0ooPF
Cursor Values
#1 0d 00:00:37 [2/26/2010 9:40:51 AM)
®2 0d 00:01:51 [2/26/2010 9:42:05 AM)
dx 0d 00:01:14

Y1035 -010 0.43FF
Y2035 -0.33 0.33FF

000 -0.23 0.76FF

Dratabloc]

MName =DPF AA1 |DPF B/ALZ
Date =2/26/2010 |2¢26/2M0
Tirne: =3:40:14 A0 | 9:40:14 AM
¥ Scale = 203/Div | 203/Diw
¥ ALE0% = 0.8 -0.88
HScale =77 s/Div| 77 s/Diw
AALD%  =00:00:00 oo.00.00
X Size  =743(143) |143[149]
Maimum = 1.00
Minimum = -0.50 -1.00
Name = DFF Tatal
Date  =2/26/2010 |2/26/2010
Time  =5:40144M |3:40:14 AM
Y Scale = 203/Div | 203 /Div
¥ ALED% = 088 -0.88
#Scale =77 &/Div| 77 s/Div
X AL0% = 00:00:00 00:00:00
WSe  =143[143) [143[149)
Maximum = 1.00 0.79
Minimum = 051 0.00

Cursor Values
#1 (0d 00:00:07 (2/26/2010 9:40:21 AM)
®2 (0d 00:00:22 (2/26/2010 3:40:36 AM)
dx 0d 00:00:15
Y1: 014 015 016
Y2: 015 015 016
d¥: 001 000 000







DELTA DATA:

Pouer &Energy Pouer &Eneray
FULL & 0:00:42 & E-E FULL & 0:00:47 =T

A B C A B C
Kkl 7.198 kU 38.33
kUA 40.33 kUA 28.72

kVAR £39.74 kVAR 1 45.27
PF 0.18 PF 0.66
OPF 0.18 OPF 067
Arms 48 50 49 Arms 71 73 F(-

AB BC CA AB BC CA
Urms 4722 4732 4731 Urms 4699 4708 4706

02726710 09:45:38 4500 60H=z38 WYE DEFAULT 02426710 09:45:43 4300 60H=z3H WYE DEFAULT
VOLTAGE
P -

ENERGY  TREHD ROLNHGE ENERGY  TREND

Pouer &Eneray
FULL &  0:00:59 o @<k

A B C
kU 84.40
kUA 98.84

kVAR +53.08
PF 0.85
DPF 0.86
Arms 121 124 121

AB BC CA
Urms 4675 4687 4688

02726510 09:45:56 480U G0Hz 38 WYE DEFAULT
VOLTAGE

EHERGY TREHD

VOLTAGE

| 5 W Fims &/L1
48233 48233 4B29 T T Datablock
H i Mame =% RAms&/L1 % Rms BALZ
Date =2/26/2010 | 2/26/2010
47979 47979 48 Time  -S4457AM | 34457 AM
H : YScale = 26 W/Div| 26 V/Div
47719 47719 47719 Y abB0E = 46339 469.39v

H¥Scale = 86 /Div| 86 s/Div
HAr0% = 00:00:00 00:00:00
HSee  =171071)  [171(171]
Masimurn = 473,64 47464
Minimum = 459.04 % 458.76Y
Mame =% Hms L3

Date =2/26/2010

Time: =9:4457 &M

47483 47453 474nd9

471,93 47193 47100

469,39 = 46939 = 46930

YScale = 26 Y/Div
W ALED% = 469.39Y
KScale = 86 2/Div
A% =00:00:00
HSize  =171(171)
Maximum = 474,38
Minimum = 453,78y

4BE73  4BEVY 4EE VY

4B419 48419 4E49

461,59 46159 46150

Cursor Values
#1 0d 00:00:09 [2/26/2010 9:45:06 AM)
®2 0d 00:00:26 [2/26/2010 9:45:23 AM)
i ! dx (0d 00:00:17
45633 456833 45ET & " ' W1 4706 47122 47148V
YW2: 4BBOE 46852 47012V
00:00:00 86 ¢/Div dY 262 230 3BV

45593 45593 45593




CURRENT

& Rms A701
PR BT 1 2 Datablack
i i Mame =4 Rms&/L1 |5 Rms B2
: : Date =2/26/2010 | 2/26/2010
4325 4325 : : Time: =59:44:57 M | 9:44:57 AM
| | 5cale = B1.8AMDw| B1.BADW
Iy AT : : WALEDE = 18534 18534
: : H¥Scale = 88 &/Div| B8 s/Div
| | Har0% =00:00:00 00:00:00
2029 2089 ; ; KSize =171071) 171171
i i Masimurn = 237.8 4 240.5 4
2471 2471 : : Minimurm = 4464 4534
: : Name =
i i Date =2/26/2010
1883 1853« : : Time = %4457 AM
: : V5cale = B1.8ADIV
1235 1735 L L Y ALEN%E = 18534
1 | XScale = 88 «/Div
67 a7 | p‘ Aat0% =00:00:00
| — — [ AR | R S— S— — P i ——— S | N— . — | RSze  =171(171)
>< /< Masimum = 235.0 4
a1 01 : : Minimum = 44.34
: : Cursor Values
P : : ®1:  OdDO:00:09 (2/26/2010 9:45:05 AM)
| | ®2 0d 00:00:26 [2/26/2010 9:45:23 AM)
| | dx Od 00:00:17
237 Ay & ' ' el 47E 478 4734
W2 478 482 4864
00:00:00 88 5/Div dY 03 0.4 074
1 ! Full Total
200,00 T Datablock
| Name ="' Ful Total
: Date =2/26/2010
160.00 : Time = 34457 &M
H Y5cale = 40 KW/Div
120.00 v WALEDE = 0.00 KW
: ®Scale = 2 m/Div
' Har0% =00:00:00
20.00 ; KSze  =171(171)
H Masimurn = 169,43 K/
40.00 : Minirmum = .01 kw
H Cursor Values
0003 et LN e el B T el Ml M L e 1 Od 00:00:09 (2/26/2070 9:45:06 AM)
= : ®2 Od 00:00:26 (2/26/2070 9:45:23 AM)
! dx Od 00:00:17
40.00 ' A B77 E23 T2k
H w2 681 7.25 .87 KW
H dY 0.04 0.36 0.75 k!
20.00 v
A2000 :
RET
2000 .
00:00:00 2m/Diw
Ve Full Totg!
200.00 T Datablock
H MName  =%A Full Total
| Date =2/26/2010
TE0.00 : Time = 54457 AM
H Y Scale = 40 KVA/Diw
120000 : Y aEE0E = D.00KVA
: XScale = 2 m/Div
H AALD%  =00:00:00
80,00 B HSize  =171[177)
H Maimum = 191,19 kv
000 el A i y ] M Minimum = 35 76 kWl
: Cursor Vaies
oo 2 ' ®1 Od 00:00:43 [2/26/2010 3:45:40 A)
= E ®2 0d 00:02:08 [2/26/2010 3:47:05 A)
B dx 0d 00:01:25
-40.00 v Y1 40105 4040 4063 KWA
H Y2 4064 4133 4224 KA
H dv 043 0.33 161 Kih
-30.00 h
12000 ;
18000 :
20000+ :

00:00:00 2 m/Div



VAR

200,00
160,00

120000

omE

=
40m
000
42000
160,00

20000 <

00:00:00

POWER FACTOR

453
292
33
27
213
1534
093
033

027

087

147 &

00:00:00

AR Full Total

S PP WY

2m/Diw

FF Total

85 s/Div

DISPLACEMENT POWER FACTOR

293

250

207

1.64

1.21

-0.51

-0.94

13 .

00:00:00

1

H

DFF Total

88 ¢/Div

Datablock
Name  =%AR Full Total
Date  =2/26/2010
Time  =59:44:57 AM

‘5cale = 40 KVARDiv
YALEDE = 0.00KVAR
HScale = 2 mDiv
HAr0% = 00:00:00
X Size  =171[171)
Masirurn = 12912 KVAR
Minimum = 3517 kWVAR
Cursor Values

#1 0d 00:00:43 (2/26/201 0 3:45:40 AM]
X2 0d 00:02:08 (2/26/2010 3:47:05 AM]
i 0d 00:01:25

v1: 3963 3987 4007 kKWAR

T2 4000 4004 4012 KWAR

dY 0.4 017 0.05KWAR

Datablock
Name  =PF Total
Date =2/26/2010
Tirne: =3:44:57 &b
Y Scale =600 mPF/Div
1.53PF

¥ ALE0% =

XScale = 85 s/Div
AALD%  =00:00:00
HSize  =171[177)
Maimum = 090 PF
Minimum = 013PF

Cuisor Yalues
®1 Od 00:00:43 (2/26/2070 9:45:40 &)
R2 Od 00:02:08 (2/26/2070 5:47:05 &t
dx Od 00:01:25
¥1: 016 017 D18FF
Y2 018 025 0.32FF
d¥: 002 008 014FF

Datablock

Name  =DPF Total
Date  =2/26/2010
Time  =59:44:57 AM
Y5cale = 043/Div
YALEDE = 078
H¥Scale =88  &/Div
HAr0% = 00:00:00
X Size  =171(171)
Masirnurn = 0.90
Minimum = 0.13

Cursor Values

#1 0d 00:00:09 (2/26/201 0 3:45:05 AM]
X2 0d 00:00:26 (2/26/2010 3:45:23 AM]
i 0d 00:00:17

v1: 017 017 018

v2: 017 012 020

dv: 000 0.0 0.02




